
1

( ) ( ) ( ) ( )
2

22S aq aq gZn H Zn H+ ++ = +0t =

1m g=40V ml=

0,5 /C mol l=
2HV

25 /MV l mol=

750500400300250200150100500( )t s

2001701541321201048664360( )V ml

t
2Hn

x
2Hn

( )x f t=( )1 1 , 1 50cm mmol cm s⎯⎯→ ⎯⎯→

50t s=400t s=

maxx1/2t

295m mg=51 %

1,4

14121214

12

1,3 10N
N

−= ×1214

145730 ans

1/2
ln 2t
λ

=λ

14C
12C

236 10AN = ×



( )235
92 U

mΔ235, ,U n Pm m m

235

235
235 1 94 1
92 0 054 3X

yU n Xe Sr n+ ⎯⎯→ + +

xy, , ,U n Sr Xem m m m

137

( )137
55 Csβ −

1/2 30t ans=

Ba

1/2t( ) 0
tm t m e λ−=

( )m tt

1/2t n t=
( )
0

2 nm t
m

−=

1370,1 %



1

( )
2
aqZn +

( )2 gH( )2 lH O

t
2Hn2

2

H
H

M

V
n

V
=

750500400300250200150100500( )t s

86,86,165, 284,84,163, 442,561,440( )
2Hn mmol

( ) ( )22 ,5 4010 0n Cn H ol H Vm ++ − ⇐ = ⋅= ×× =

( ) ( )21,5 1
6

3 0
5

1n Zn m mn Z
M

l no− ⇐ = == ×

x
2Hn

( ) ( ) ( ) ( )
2

22S aq aq gZn H Zn H+ ++ = +

00
22 10−×21,53 10−×

xx22 10 2x−× −21,53 10 x−× −

fxfx22 10 2 fx−× −21,53 10 fx−× −

x
2Hn

2Hn x=

( )x f t=( )1 1 , 1 50cm mmol cm s⎯⎯→ ⎯⎯→

4

4

5,88 10 / .

1,95 10 /

50 **

40. 0 **

v mol l s
v mol l s

t s
t s

−

−

←⎯⎯ =

←⎯⎯ =

= ×

= ×

( )max fx x=
2

2

1,53 10 0

2 10 2 0
f

f

x
x

−

−

× − =

× − =
2

max 1,0 10x mol−= ×

( )H +

( ) 3max
1/2 5 10

2
xx t mol−= = ×

1/2 270t s=

0,5

0,5

0,5

0,5

0,5

0,5
0,5

0,5

0,5

0,5

1,5



1/2
ln 2t
λ

=

( ) 0
tN t N e λ−=( )1/2 1/20

1/2 0
1
2 2

t tNe N t N eλ λ− −= ⇐ = =

1/2ln 2 tλ⇐ =1/2
ln 2t
λ

=

14C
AN A Nλ
λ

= ⇐ =

1/2

ln 2
AN

t

=

1,4
60

0,69
5730 365 24 3600

N =

× × ×

96,1 10N = ×

12C14C12C

A

A

m N m NN
M M N
×= ⇐ =

230, 295 0,51 6 10
12

N × × ×=

217,5 10N = ×

1214

12

1,3 10N
N

−← = ×12
14 121,3 10N N−= × ×( )

12 21
0 14 1,3 10 7,5 10N −= × × ×

( )
9

0 14 9,7 10N = ×

( )
( )

( )
( ) ( )

14014
14 0 14

14 0 14

1 ln ln t tN tNt e N t N e
N t N

λ λ

λ
− −= ⇐ = ⇐ =

9

9

5730 9,7 10ln
0,69 6,1 10

t ×=
×

3840t ans=

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5



( )235
92 U

92( )92Z =143( )143N A Z= − =

mΔ235, ,U n Pm m m

( )( )P N Um Z m A Z m mΔ = + − −( )92 143P N Um m m mΔ = + −

235
2

lE m c= Δ( )( ) 292 143l P N UE m m m c= + −

xy

235 1 94 3139 xx ⇐ + = + +=92 48 53 yy ⇐ = +=
2

libE Q m c= = Δ( ) 22lib Xe Sr n UE m m m m c= + + −

, ,γ β α
137 137
55 56Cs Ba β −→ +

1/2t

( ) 0
tm t m e λ−=

A

A

m N m NN n
M M N

= ⇐ = =

( ) 0
tN t N e λ−=

( ) 0A tAm t N m N e
M M

λ−=

( ) 0
tm t m e λ−=

1/2t n t=
( )
0

2 nm t
m

−=

( )
0

tm t
e

m
λ−=1/2

1/2

ln 2,t n t
t

λ= =
( ) 1/2

1/2

0

ln2 n ttm t
m

e
−

⇐=

( ) ( ) ln 2

0

ln2

0

n nm t
e

m
m t

e
m

−− ⇐ ==( )
0

2nm t
m

= −

1370,1 %

( )
0

0,1%
m t
m

=3 3 3ln 2 ln10 ln 2 ln10 2 0.001 10n nn − − − − −− = ⇐ = ⇐ = =

3ln1010
ln 2

n n⇐ =1/2t n t=10 30t = ×300t ans=

0,25
0,25

0,5

0,5

0,5
0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

4,5


	63
	63cor

